## Tabulation of Bids (BASE BID) Village of Hoffman Estates 2021 Street Revitalization Project

Section Number: 21-00108-00-RS

County	Cook												
	1 March 2021, 10:00 A.M. Attendees: Greg Burkey, Jacob Curhtbert, Andy LoBosco, Bev Romanoff, Alan Wenderski (All VOHE)					Plote Construction Inc. 1100 Brandt Drive Hoffman Estates, IL 60192		Schroeder Asphalt Services, Inc P.O. Box 831 Huntley, IL 60142		Arrow Road Construction Co. 1445 Oakton Street Elk Grove Village, IL 60007		A Lamp Concrete Contractors, Inc. 1900 Wright Boulevard Schaumburg, IL 60193	
ITEM#	ITEMS	UNIT	QUANTITIES	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL
HE201000	TREE ROOT PRUNING	EACH	152	\$85.00	\$12,920.00	\$80.00	\$12,160.00	\$90.00	\$13,680.00	\$60.00	\$9,120.00	\$25.00	\$3,800.00
20200100	EARTH EXCAVATION	CU YD	7,085	\$31.00	\$219,635.00	\$25.00	\$177,125.00	\$28.00	\$198,380.00	\$35.75	\$253,288.75	\$26.00	\$184,210.00
20201200	REMOVAL AND DISPOSAL OF UNSUITABLE MATERIALS	CU YD	2,138	\$27.00	\$57,726.00	\$12.00	\$25,656.00	\$15.00	\$32,070.00	\$15.00	\$32,070.00	\$10.00	\$21,380.00
20800150	TRENCH BACKFILL	CU YD	174	\$45.00	\$7,830.00	\$12.00	\$2,088.00	\$12.00	\$2,088.00	\$12.00	\$2,088.00	\$42.00	\$7,308.00
21001000	GEOTECHNICAL FABRIC FOR GROUND STABILIZATION	SQ YD	17,845	\$1.05	\$18,737.25	\$1.00	\$17,845.00	\$1.00	\$17,845.00	\$1.65	\$29,444.25	\$1.00	\$17,845.00
21400100	GRADING AND SHAPING DITCHES	FOOT	200	\$10.00	\$2,000.00	\$9.00	\$1,800.00	\$11.00	\$2,200.00	\$22.00	\$4,400.00	\$15.00	\$3,000.00
HE250000	EROSION CONTROL BLANKET WITH SEED, SPECIAL	SQ YD	8,659	\$8.50	\$73,601.50	\$8.00	\$69,272.00	\$7.55	\$65,375.45	\$9.00	\$77,931.00	\$2.00	\$17,318.00
HE252000	SODDING, SPECIAL	SQ YD	13,435	\$13.50	\$181,372.50	\$13.00	\$174,655.00	\$12.50	\$167,937.50	\$10.50	\$141,067.50	\$6.00	\$80,610.00
28000510	INLET FILTERS	EACH	302	\$100.00	\$30,200.00	\$70.00	\$21,140.00	\$70.00	\$21,140.00	\$70.00	\$21,140.00	\$15.00	\$4,530.00
30300001	AGGREGATE SUBGRADE IMPROVEMENT	CU YD	2,138	\$25.00	\$53,450.00	\$12.00	\$25,656.00	\$15.00	\$32,070.00	\$15.00	\$32,070.00	\$10.00	\$21,380.00
30300112	AGGREGATE SUBGRADE IMPROVEMENT 12"	SQ YD	17,845	\$15.00	\$267,675.00	\$12.50	\$223,062.50	\$12.75	\$227,523.75	\$17.25	\$307,826.25	\$11.50	\$205,217.50
40201000	AGGREGATE FOR TEMPORARY ACCESS	TON	320	\$20.00	\$6,400.00	\$1.00	\$320.00	\$1.00	\$320.00	\$23.45	\$7,504.00	\$1.00	\$320.00
40600290	BITUMINOUS MATERIALS (TACK COAT)	POUND	81,113	\$1.00	\$81,113.00	\$0.01	\$811.13	\$0.01	\$811.13	\$0.01	\$811.13	\$0.01	\$811.13
40602978	HOT-MIX ASPHALT BINDER COURSE, IL- 9.5, N50	TON	2,007	\$83.00	\$166,581.00	\$80.00	\$160,560.00	\$78.00	\$156,546.00	\$75.90	\$152,331.30	\$79.00	\$158,553.00
40603080	HOT-MIX ASPHALT BINDER COURSE, IL-19.0, N50	TON	2,317	\$75.00	\$173,775.00	\$67.00	\$155,239.00	\$73.50	\$170,299.50	\$70.95	\$164,391.15	\$75.00	\$173,775.00
40603200	POLYMERIZED HOT-MIX ASPHALT BINDER COURSE, IL-4.75, N50	TON	436	\$98.00	\$42,728.00	\$94.00	\$40,984.00	\$86.00	\$37,496.00	\$91.05	\$39,697.80	\$100.00	\$43,600.00
40604060	HOT-MIX ASPHALT SURFACE COURSE, IL-9.5, MIX "D", N50	TON	7,830	\$77.00	\$602,910.00	\$70.00	\$548,100.00	\$74.00	\$579,420.00	\$75.85	\$593,905.50	\$77.00	\$602,910.00
40700100	BITUMINOUS MATERIALS (TACK COAT)	POUND	5,283	\$1.00	\$5,283.00	\$0.01	\$52.83	\$0.01	\$52.83	\$0.01	\$52.83	\$0.01	\$52.83
40701801	HOT-MIX ASPHALT PAVEMENT (FULL-DEPTH), 6"	SQ YD	15,622	\$25.50	\$398,361.00	\$25.00	\$390,550.00	\$25.30	\$395,236.60	\$23.15	\$361,649.30	\$25.50	\$398,361.00
HE407300	HOT-MIX ASPHALT DRIVEWAY PAVEMENT, 3"	SQ YD	448	\$55.00	\$24,640.00	\$39.00	\$17,472.00	\$21.00	\$9,408.00	\$53.20	\$23,833.60	\$25.00	\$11,200.00
HE407500	HOT-MIX ASPHALT DRIVEWAY PAVEMENT, 5"	SQ YD	44	\$60.00	\$2,640.00	\$48.00	\$2,112.00	\$34.00	\$1,496.00	\$113.00	\$4,972.00	\$35.00	\$1,540.00
HE423060	PORTLAND CEMENT CONCRETE DRIVEWAY PAVEMENT, 6 INCH	SQ YD	4,838	\$49.00	\$237,062.00	\$45.00	\$217,710.00	\$47.00	\$227,386.00	\$45.00	\$217,710.00	\$55.00	\$266,090.00
HE423080	PORTLAND CEMENT CONCRETE DRIVEWAY PAVEMENT, 8 INCH	SQ YD	20	\$55.00	\$1,100.00	\$52.00	\$1,040.00	\$58.00	\$1,160.00	\$50.00	\$1,000.00	\$65.00	\$1,300.00
HE424000	PORTLAND CEMENT CONCRETE SIDEWALK, 5 INCH	SQ FT	126,292	\$4.75	\$599,887.00	\$4.50	\$568,314.00	\$4.70	\$593,572.40	\$4.55	\$574,628.60	\$4.90	\$618,830.80
42400800	DETECTABLE WARNINGS	SQ FT	1,745	\$23.00	\$40,135.00	\$23.50	\$41,007.50	\$20.00	\$34,900.00	\$21.00	\$36,645.00	\$20.00	\$34,900.00
HE4240DI	DETECTABLE WARNINGS, CAST IRON, SPL	SQ ST	20	\$35.00	\$700.00	\$32.00	\$640.00	\$50.00	\$1,000.00	\$33.00	\$660.00	\$35.00	\$700.00
44000100	PAVEMENT REMOVAL	SQ YD	15,959	\$6.25	\$99,743.75	\$4.00	\$63,836.00	\$4.25	\$67,825.75	\$5.00	\$79,795.00	\$5.00	\$79,795.00
HE440010	PAVEMENT REMOVAL, SPECIAL	SQ YD	15,733	\$6.50	\$102,264.50	\$4.50	\$70,798.50	\$5.05	\$79,451.65	\$10.15	\$159,689.95	\$5.90	\$92,824.70
HE440015	VARIABLE DEPTH GRINDING (0 INCH TO 3 INCH)	SQ YD	74,408	\$2.60	\$193,460.80	\$2.75 \$9.50	\$204,622.00	\$1.80	\$133,934.40	\$2.40	\$178,579.20	\$1.95	\$145,095.60
44000200	DRIVEWAY PAVEMENT REMOVAL	SQ YD	5,380	\$10.00	\$53,800.00 \$47,589.50	\$3.10	\$51,110.00 \$42,150.70	\$8.50 \$3.25	\$45,730.00 \$44,190.25	\$7.25 \$3.50	\$39,005.00 \$47,589.50	\$7.00 \$3.05	\$37,660.00 \$41,470.85
44000500	COMBINATION CONCRETE CURB AND GUTTER REMOVAL	FOOT	13,597	\$3.50	\$124,208.00	\$0.90	\$111,787.20	\$1.00	\$124,208.00	\$1.00	\$124,208.00	\$1.00	\$124,208.00
44000600 HE442040	SIDEWALK REMOVAL CLASS D PATCH, SPECIAL, 4 INCH	SQ FT SQ YD	124,208 422	\$1.00 \$45.00	\$124,208.00	\$38.00	\$16,036.00	\$30.00	\$124,208.00	\$1.00	\$4,220.00	\$37.00	\$124,208.00
HE442040 HE442060		_ `	863	\$45.00 \$60.00	\$18,990.00	\$40.00	\$34,520.00	\$42.00	\$36,246.00	\$15.00	\$12,945.00	\$54.00	\$46,602.00
HE442060 HE442080	CLASS D PATCH, SPECIAL, 6 INCH CLASS D PATCH, SPECIAL, 8 INCH	SQ YD	190	\$60.00 \$65.00	\$12,350.00	\$55.00	\$10,450.00	\$60.00	\$11,400.00	\$20.00	\$3,800.00	\$34.00 \$76.00	\$14,440.00
HE542485	CONCRETE COLLAR, SPECIAL	SQ YD EACH	3	\$65.00 \$750.00	\$2,250.00	\$550.00	\$1,650.00	\$550.00	\$1,650.00	\$550.00	\$1,650.00	\$500.00	\$1,500.00
HE542485 HE550A12	STORM SEWERS, RUBBER GASKET, CLASS A, TYPE 1, 12"	FOOT	953	\$67.00	\$63,851.00	\$52.00	\$49,556.00	\$52.00	\$49,556.00	\$52.00	\$49,556.00	\$61.00	\$58,133.00
HE550A15	STORM SEWERS, RUBBER GASKET, CLASS A, TYPE 1, 12  STORM SEWERS, RUBBER GASKET, CLASS A, TYPE 1, 15"	FOOT	20	\$75.00	\$1,500.00	\$69.00	\$1,380.00	\$69.00	\$1,380.00	\$69.00	\$1,380.00	\$70.00	\$1,400.00
HE550A18	STORM SEWERS, RUBBER GASKET, CLASS A, TYPE 1, 15"  STORM SEWERS, RUBBER GASKET, CLASS A, TYPE 1, 18"	FOOT	34	\$95.00	\$3,230.00	\$72.00	\$2,448.00	\$72.00	\$2,448.00	\$72.00	\$2,448.00	\$75.00	\$2,550.00
HE550A24	STORM SEWERS, RUBBER GASKET, CLASS A, TYPE 1, 18 STORM SEWERS, RUBBER GASKET, CLASS A, TYPE 1, 24"	FOOT	5	\$125.00	\$625.00	\$139.00	\$695.00	\$139.00	\$695.00	\$139.00	\$695.00	\$125.00	\$625.00
HE550A36	STORM SEWERS, RUBBER GASKET, CLASS A, TYPE 1, 24 STORM SEWERS, RUBBER GASKET, CLASS A, TYPE 1, 36"	FOOT	146	\$123.00	\$20,440.00	\$152.00	\$22,192.00	\$152.00	\$22,192.00	\$152.00	\$22,192.00	\$125.00	\$18,250.00
HE55DI12	STORM SEWERS, DUCTILE IRON, 12 INCH	FOOT	53	\$100.00	\$5,300.00	\$87.00	\$4,611.00	\$87.00	\$4,611.00	\$87.00	\$4,611.00	\$97.00	\$5,141.00
HE55WM12	STORM SEWERS, DOCTLEE BRON, 12 INCH STORM SEWER (WATER MAIN REQUIREMENTS) 12 INCH	FOOT	358	\$75.00	\$26,850.00	\$55.00	\$19,690.00	\$55.00	\$19,690.00	\$55.00	\$19,690.00	\$97.00	\$34,726.00
HE550P04	STORM SEWER (WATER MAIN REQUIREMENTS) 12 INCH STORM SEWERS, SOLID PVC PIPE, 4 INCH	FOOT	25	\$30.00	\$750.00	\$27.00	\$675.00	\$27.00	\$675.00	\$27.00	\$675.00	\$35.00	\$875.00
HE550P06	STORM SEWERS, SOLID PVC PIPE, 6 INCH	FOOT	25	\$35.00	\$875.00	\$32.00	\$800.00	\$32.00	\$800.00	\$32.00	\$800.00	\$40.00	\$1,000.00
HE550P08	STORM SEWERS, SOLID PVC PIPE, 8 INCH	FOOT	25	\$55.00	\$1,375.00	\$41.00	\$1,025.00	\$41.00	\$1,025.00	\$41.00	\$1,025.00	\$45.00	\$1,125.00
	, , , , , , , , , , , , , , , , , , , ,												*

## Tabulation of Bids (BASE BID) Village of Hoffman Estates 2021 Street Revitalization Project

Section Number: 21-00108-00-RS

County	Cook													
1 March 2021, 10:00 A.M. Attendees: Greg Burkey, Jacob Curhtbert, Andy LoBosco, Bev Romanoff, Alan Wenderski (All VOHE)					2021 STREET REVITALIZATION PROJECT - ENGINEERS ESTIMATE		Plote Construction Inc. 1100 Brandt Drive Hoffman Estates, IL 60192		Schroeder Asphalt Services, Inc P.O. Box 831 Huntley, IL 60142		Arrow Road Construction Co. 1445 Oakton Street Elk Grove Village, IL 60007		A Lamp Concrete Contractors, Inc. 1900 Wright Boulevard Schaumburg, IL 60193	
ITEM#	ITEMS	UNIT	QUANTITIES	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	
HE550P10	STORM SEWERS, SOLID PVC PIPE, 10 INCH	FOOT	25	\$65.00	\$1,625.00	\$50.00	\$1,250.00	\$50.00	\$1,250.00	\$50.00	\$1,250.00	\$50.00	\$1,250.00	
HE551000	DIRECT CONNECTION TO STORM SEWER, SPECIAL	EACH	1	\$600.00	\$600.00	\$505.00	\$505.00	\$505.00	\$505.00	\$505.00	\$505.00	\$500.00	\$500.00	
55100400	STORM SEWER REMOVAL, 10"	FOOT	46	\$25.00	\$1,150.00	\$4.00	\$184.00	\$4.00	\$184.00	\$4.00	\$184.00	\$1.00	\$46.00	
55100500	STORM SEWER REMOVAL, 12"	FOOT	213	\$25.00	\$5,325.00	\$4.00	\$852.00	\$5.00	\$1,065.00	\$4.00	\$852.00	\$1.00	\$213.00	
55100700	STORM SEWER REMOVAL 15"	FOOT	87	\$25.00	\$2,175.00	\$5.00	\$435.00	\$5.00	\$435.00	\$5.00	\$435.00	\$1.00	\$87.00	
55100800	STORM SEWER REMOVAL 18"	FOOT	8	\$30.00	\$240.00	\$7.00	\$56.00	\$7.00	\$56.00	\$7.00	\$56.00	\$1.00	\$8.00	
55101200	STORM SEWER REMOVAL 24"	FOOT	5	\$30.00	\$150.00	\$7.00	\$35.00	\$7.00	\$35.00	\$7.00	\$35.00	\$1.00	\$5.00	
55101400	STORM SEWER REMOVAL, 30"	FOOT	146	\$35.00	\$5,110.00	\$5.00	\$730.00	\$5.00	\$730.00	\$5.00	\$730.00	\$1.00	\$146.00	
55101600	STORM SEWER REMOVAL, 36"	FOOT	5	\$40.00	\$200.00	\$7.00	\$35.00	\$7.00	\$35.00	\$7.00	\$35.00	\$1.00	\$5.00	
HE561040	WATER MAIN ADJUSTMENT, 6", SPECIAL	FOOT	20	\$320.00	\$6,400.00	\$265.00	\$5,300.00	\$100.00	\$2,000.00	\$265.00	\$5,300.00	\$340.00	\$6,800.00	
HE561060	WATER MAIN ADJUSTMENT, 8", SPECIAL	FOOT	70	\$375.00	\$26,250.00	\$218.00	\$15,260.00	\$218.00	\$15,260.00	\$218.00	\$15,260.00	\$340.00	\$23,800.00	
HE563004	SANITARY SEWER, PVC SDR 26, 4", SPECIAL	FOOT	95	\$140.00	\$13,300.00	\$90.00	\$8,550.00	\$90.00	\$8,550.00	\$90.00	\$8,550.00	\$100.00	\$9,500.00	
HE563006	SANITARY SEWER, PVC SDR 26, 6", SPECIAL	FOOT	5	\$150.00	\$750.00	\$127.00	\$635.00	\$127.00	\$635.00	\$127.00	\$635.00	\$125.00	\$625.00	
HE563008	SANITARY SEWER, PVC SDR 26, 8", SPECIAL	FOOT	160	\$175.00	\$28,000.00	\$127.00	\$20,320.00	\$127.00	\$20,320.00	\$127.00	\$20,320.00	\$130.00	\$20,800.00	
HE563012	SANITARY SEWER, PVC SDR 26, 12", SPECIAL	FOOT	16	\$200.00	\$3,200.00	\$169.00	\$2,704.00	\$169.00	\$2,704.00	\$169.00	\$2,704.00	\$200.00	\$3,200.00	
HE563104	SANITARY SEWER REMOVAL, 4", SPECIAL	FOOT	70	\$25.00	\$1,750.00	\$5.00	\$350.00	\$5.00	\$350.00	\$5.00	\$350.00	\$1.00	\$70.00	
HE563106	SANITARY SEWER REMOVAL, 6", SPECIAL	FOOT	5	\$25.00	\$125.00	\$5.00	\$25.00	\$5.00	\$25.00	\$5.00	\$25.00	\$1.00	\$5.00	
HE563108	SANITARY SEWER REMOVAL, 8", SPECIAL	FOOT	160	\$25.00	\$4,000.00	\$5.00	\$800.00	\$5.00	\$800.00	\$5.00	\$800.00	\$1.00	\$160.00	
HE563112	SANITARY SEWER REMOVAL, 12", SPECIAL	FOOT	16	\$35.00	\$560.00	\$13.00	\$208.00	\$13.00	\$208.00	\$13.00	\$208.00	\$1.00	\$16.00	
HE563204	SANITARY SEWER SERVICE CONNECTION, 4", SPECIAL	EACH	9	\$1,650.00	\$14,850.00	\$750.00	\$6,750.00	\$750.00	\$6,750.00	\$750.00	\$6,750.00	\$2,050.00	\$18,450.00	
HE564400	SANITARY MANHOLES, 4 FOOT DIAMETER, SPECIAL	EACH	9	\$5,500.00	\$49,500.00	\$6,030.00	\$54,270.00	\$6,030.00	\$54,270.00	\$6,030.00	\$54,270.00	\$4,500.00	\$40,500.00	
HE564450	SANITARY DROP MANHOLES, 4 FOOT DIAMETER, SPECIAL	EACH	2	\$9,500.00	\$19,000.00	\$13,225.00	\$26,450.00	\$13,225.00	\$26,450.00	\$13,225.00	\$26,450.00	\$8,000.00	\$16,000.00	
HE565000	SANITARY MANHOLES, ADJUST, SPECIAL	EACH	28	\$800.00	\$22,400.00	\$710.00	\$19,880.00	\$710.00	\$19,880.00	\$710.00	\$19,880.00	\$850.00	\$23,800.00	
HE565500	SANITARY MANHOLES, RECONSTRUCT, SPECIAL	EACH	2	\$1,500.00	\$3,000.00	\$1,680.00	\$3,360.00	\$1,680.00	\$3,360.00	\$1,680.00	\$3,360.00	\$1,500.00	\$3,000.00	
HE601004	PIPE UNDERDRAINS, FABRIC LINED TRENCH, 4", SPL	FOOT	341	\$32.00	\$10,912.00	\$25.00	\$8,525.00	\$25.00	\$8,525.00	\$25.00	\$8,525.00	\$30.00	\$10,230.00	
HE601006	PIPE UNDERDRAINS, FABRIC LINED TRENCH, 6", SPL	FOOT	100	\$35.00	\$3,500.00	\$30.00	\$3,000.00	\$30.00	\$3,000.00	\$30.00	\$3,000.00	\$35.00	\$3,500.00	
HE602104	CATCH BASINS, 4 FOOT DIAMETER	EACH	10	\$3,100.00	\$31,000.00	\$3,100.00	\$31,000.00	\$3,100.00	\$31,000.00	\$3,100.00	\$31,000.00	\$3,000.00	\$30,000.00	
HE602105	CATCH BASINS, 5 FOOT DIAMETER	EACH	0	\$3,500.00	\$0.00	\$4,105.00	\$0.00	\$4,085.00	\$0.00	\$4,040.00	\$0.00	\$3,500.00	\$0.00	
HE602200	INLETS, 2 FOOT DIAMETER	EACH	18	\$1,300.00	\$23,400.00	\$1,140.00	\$20,520.00	\$1,140.00	\$20,520.00	\$1,140.00	\$20,520.00	\$1,200.00	\$21,600.00	
HE602400	MANHOLES, 4 FOOT DIAMETER	EACH	6	\$3,000.00	\$18,000.00	\$3,245.00 \$4,025.00	\$19,470.00 \$4,025.00	\$3,245.00 \$4,025.00	\$19,470.00 \$4,025.00	\$3,245.00 \$4,025.00	\$19,470.00 \$4,025.00	\$3,000.00 \$4,000.00	\$18,000.00	
HE602500	MANHOLES, 5 FOOT DIAMETER	EACH	1	\$4,000.00	\$4,000.00 \$6,000.00	\$4,023.00	·	\$4,023.00	·	\$6,900.00	\$6,900.00	\$5,500.00	\$4,000.00	
HE602600	MANHOLES, 6 FOOT DIAMETER	EACH	102	\$6,000.00	\$54,600.00	\$285.00	\$6,900.00 \$51,870.00	\$6,900.00	\$6,900.00 \$51,870.00	\$6,900.00	\$51,870.00	\$3,300.00	\$5,500.00 \$59,150.00	
HE603000	MANHOLES TO BE ADJUSTED	EACH	182	\$300.00 \$700.00	\$700.00	\$1,380.00	\$1,380.00	\$1,380.00	\$1,380.00	\$1,380.00	\$1,380.00	\$1,300.00	\$1,300.00	
HE603500	MANHOLES TO BE RECONSTRUCTED  MANHOLES TO BE ADJUSTED, SPECIAL	EACH	6	\$700.00 \$525.00	\$3,150.00	\$500.00	\$3,000.00	\$1,380.00	\$3,000.00	\$1,380.00	\$3,000.00	\$550.00	\$3,300.00	
HE603100	GRATES, TYPE 8	EACH EACH	2	\$323.00	\$600.00	\$182.00	\$3,000.00	\$182.00	\$3,000.00	\$182.00	\$3,000.00	\$200.00	\$400.00	
60402210 HE604007	FRAMES AND GRATES, DEPRESSED GRATE	EACH	6	\$300.00	\$2,100.00	\$430.00	\$2,580.00	\$430.00	\$2,580.00	\$430.00	\$2,580.00	\$385.00	\$2,310.00	
60406000	FRAMES AND LIDS, TYPE 1, OPEN LID	EACH	1	\$350.00	\$350.00	\$285.00	\$285.00	\$285.00	\$285.00	\$285.00	\$285.00	\$350.00	\$350.00	
HE604060	FRAMES AND LIDS, TTTE 1, OFEN LID FRAMES AND LIDS, STORM, TYPE 1, CLOSED LID, SPECIAL	EACH	6	\$325.00	\$1,950.00	\$290.00	\$1,740.00	\$290.00	\$1,740.00	\$290.00	\$1,740.00	\$350.00	\$2,100.00	
HE604061	FRAMES AND LIDS, STORM, TITE 1, CLOSED LID, SPECIAL  FRAMES AND LIDS, SANITARY, TYPE 1, CLOSED LID, SPECIAL	EACH	23	\$325.00	\$7,475.00	\$295.00	\$6,785.00	\$295.00	\$6,785.00	\$295.00	\$6,785.00	\$350.00	\$8,050.00	
HE604062	FRAMES AND LIDS, WATER, TYPE 1, CLOSED LID, SPECIAL	EACH	1	\$325.00	\$325.00	\$295.00	\$295.00	\$295.00	\$295.00	\$295.00	\$295.00	\$350.00	\$350.00	
HE604300	FRAMES AND GRATES, FOR M3.12 CURB	EACH	48	\$323.00	\$18,720.00	\$353.00	\$16,944.00	\$353.00	\$16,944.00	\$353.00	\$16,944.00	\$465.00	\$22,320.00	
HE604605	FRAMES AND GRATES, FOR MS.12 CORB	EACH	13	\$440.00	\$5,720.00	\$425.00	\$5,525.00	\$425.00	\$5,525.00	\$425.00	\$5,525.00	\$465.00	\$6,045.00	
HE604606	FRAMES AND GRATES SPECIAL, FOR B6.12 CURB	EACH	4	\$550.00	\$2,200.00	\$585.00	\$2,340.00	\$585.00	\$2,340.00	\$585.00	\$2,340.00	\$550.00	\$2,200.00	
60500040	REMOVING MANHOLES	EACH	18	\$300.00	\$5,400.00	\$205.00	\$3,690.00	\$205.00	\$3,690.00	\$205.00	\$3,690.00	\$400.00	\$7,200.00	
60500060	REMOVING INLETS	EACH	14	\$125.00	\$1,750.00	\$60.00	\$840.00	\$60.00	\$840.00	\$60.00	\$840.00	\$250.00	\$3,500.00	

#### **Tabulation of Bids (BASE BID)**

### Village of Hoffman Estates 2021 Street Revitalization Project

Section Number: 21-00108-00-RS

County	Cook												
1 March 2021, 10:00 A.M. Attendees: Greg Burkey, Jacob Curhtbert, Andy LoBosco, Bev Romanoff, Alan Wenderski (All VOHE)					2021 STREET REVITALIZATION PROJECT - ENGINEERS ESTIMATE		Plote Construction Inc. 1100 Brandt Drive Hoffman Estates, IL 60192		Schroeder Asphalt Services, Inc P.O. Box 831 Huntley, IL 60142		Arrow Road Construction Co. 1445 Oakton Street Elk Grove Village, IL 60007		ete Contractors, Inc. ight Boulevard ourg, IL 60193
ITEM#	ITEMS	UNIT	QUANTITIES	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL
HE606100	COMBINATION CONCRETE CURB AND GUTTER, M3.12, SPECIAL	FOOT	10,665	\$19.00	\$202,635.00	\$14.00	\$149,310.00	\$16.00	\$170,640.00	\$18.00	\$191,970.00	\$17.00	\$181,305.00
HE606200	COMBINATION CONCRETE CURB AND GUTTER, B6.12, SPECIAL	FOOT	2,925	\$20.00	\$58,500.00	\$17.00	\$49,725.00	\$18.00	\$52,650.00	\$18.50	\$54,112.50	\$18.00	\$52,650.00
HE606300	COMBINATION CONCRETE CURB AND GUTTER REMOVAL & REPLACEMENT, SPECIAL	FOOT	8,494	\$24.00	\$203,856.00	\$28.00	\$237,832.00	\$24.25	\$205,979.50	\$22.15	\$188,142.10	\$27.00	\$229,338.00
HE606900	CONCRETE FRONT FILL, SPECIAL	FOOT	100	\$2.00	\$200.00	\$5.00	\$500.00	\$5.00	\$500.00	\$2.00	\$200.00	\$4.00	\$400.00
HE701014	TRAFFIC CONTROL AND PROTECTION	LUMP SUM	1	\$250,000.00	\$250,000.00	\$290,382.98	\$290,382.98	\$340,900.00	\$340,900.00	\$185,000.00	\$185,000.00	\$463,000.00	\$463,000.00
70300100	SHORT TERM PAVEMENT MARKING	FOOT	1,382	\$1.50	\$2,073.00	\$1.00	\$1,382.00	\$0.01	\$13.82	\$0.95	\$1,312.90	\$0.01	\$13.82
70300150	SHORT TERM PAVEMENT MARKING REMOVAL	SQ FT	460	\$1.50	\$690.00	\$3.00	\$1,380.00	\$0.01	\$4.60	\$3.65	\$1,679.00	\$1.00	\$460.00
HE720010	REMOVE AND RESET SIGN	EACH	1	\$250.00	\$250.00	\$150.00	\$150.00	\$250.00	\$250.00	\$150.00	\$150.00	\$300.00	\$300.00
78009000	MODIFIED URETHANE PAVEMENT MARKING - LETTERS AND SYMBOLS	SQ FT	358	\$7.50	\$2,685.00	\$5.59	\$2,001.22	\$5.00	\$1,790.00	\$5.00	\$1,790.00	\$5.50	\$1,969.00
78009004	MODIFIED URETHANE PAVEMENT MARKING - LINE 4"	FOOT	1,761	\$1.25	\$2,201.25	\$0.93	\$1,637.73	\$0.95	\$1,672.95	\$0.95	\$1,672.95	\$1.05	\$1,849.05
78009006	MODIFIED URETHANE PAVEMENT MARKING - LINE 6"	FOOT	4,104	\$1.75	\$7,182.00	\$1.40	\$5,745.60	\$1.20	\$4,924.80	\$1.20	\$4,924.80	\$1.35	\$5,540.40
78009012	MODIFIED URETHANE PAVEMENT MARKING - LINE 12"	FOOT	158	\$3.50	\$553.00	\$2.79	\$440.82	\$2.50	\$395.00	\$2.50	\$395.00	\$3.00	\$474.00
78009024	MODIFIED URETHANE PAVEMENT MARKING - LINE 24"	FOOT	731	\$7.50	\$5,482.50	\$5.59	\$4,086.29	\$5.00	\$3,655.00	\$5.00	\$3,655.00	\$5.50	\$4,020.50
HE900000	MAINTENANCE LETTERS OF CREDIT	LUMP SUM	1	\$3,500.00	\$3,500.00	\$4,000.00	\$4,000.00	\$5,000.00	\$5,000.00	\$2,625.00	\$2,625.00	\$5,000.00	\$5,000.00
TOTAL BA	TOTAL BASE BID As Read					] [	\$4,714,000.00		\$4,785,092.88		\$4,842,442.86		\$4,929,288.18
TOTAL BA	TOTAL BASE BID As Corrected					-	\$4,714,000.00		\$4,795,092.88		\$4,842,442.86		\$4,929,288.18

# Tabulation of Bids (ALTERNATE BID) Village of Hoffman Estates 2021 Street Revitalization Project Section Number: 21-00108-00-RS

County	Cook													
	1 March 2021, 10:00 A.M. Attendees: Greg Burkey, Jacob Curhtbert, Andy LoBosco, Bev Romanoff, Alan Wenderski (All VOHE)				2021 STREET REVITALIZATION PROJECT - ENGINEERS ESTIMATE		Plote Construction Inc. 1100 Brandt Drive Hoffman Estates, IL 60192		Schroeder Asphalt Services, Inc P.O. Box 831 Huntley, IL 60142		Arrow Road Construction Co. 1445 Oakton Street Elk Grove Village, IL 60007		A Lamp Concrete Contractors, Inc. 1900 Wright Boulevard Schaumburg, IL 60193	
ITEM#	ITEMS	UNIT	QUANTITIES	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	
HE201000	TREE ROOT PRUNING	EACH	163	\$85.00	\$13,855.00	\$80.00	\$13,040.00	\$90.00	\$14,670.00	\$60.00	\$9,780.00	\$25.00	\$4,075.00	
20200100	EARTH EXCAVATION	CU YD	8,636	\$31.00	\$267,716.00	\$25.00	\$215,900.00	\$28.00	\$241,808.00	\$35.75	\$308,737.00	\$26.00	\$224,536.00	
20201200	REMOVAL AND DISPOSAL OF UNSUITABLE MATERIALS	CU YD	2,344	\$27.00	\$63,288.00	\$12.00	\$28,128.00	\$15.00	\$35,160.00	\$15.00	\$35,160.00	\$10.00	\$23,440.00	
20800150	TRENCH BACKFILL	CU YD	174	\$45.00	\$7,830.00	\$12.00	\$2,088.00	\$12.00	\$2,088.00	\$12.00	\$2,088.00	\$42.00	\$7,308.00	
21001000	GEOTECHNICAL FABRIC FOR GROUND STABILIZATION	SQ YD	21,777	\$1.05	\$22,865.85	\$1.00	\$21,777.00	\$1.00	\$21,777.00	\$1.65	\$35,932.05	\$1.00	\$21,777.00	
21400100	GRADING AND SHAPING DITCHES	FOOT	200	\$10.00	\$2,000.00	\$9.00	\$1,800.00	\$11.00	\$2,200.00	\$22.00	\$4,400.00	\$15.00	\$3,000.00	
HE250000	EROSION CONTROL BLANKET WITH SEED, SPECIAL	SQ YD	8,659	\$8.50	\$73,601.50	\$8.00	\$69,272.00	\$7.55	\$65,375.45	\$9.00	\$77,931.00	\$2.00	\$17,318.00	
HE252000	SODDING, SPECIAL	SQ YD	15,492	\$13.50	\$209,142.00	\$13.00	\$201,396.00	\$12.25	\$189,777.00	\$10.50	\$162,666.00	\$6.00	\$92,952.00	
28000510	INLET FILTERS	EACH	315	\$100.00	\$31,500.00	\$70.00	\$22,050.00	\$70.00	\$22,050.00	\$70.00	\$22,050.00	\$15.00	\$4,725.00	
30300001	AGGREGATE SUBGRADE IMPROVEMENT	CU YD	2,344	\$25.00	\$58,600.00	\$12.00	\$28,128.00	\$15.00	\$35,160.00	\$15.00	\$35,160.00	\$10.00	\$23,440.00	
30300112	AGGREGATE SUBGRADE IMPROVEMENT 12"	SQ YD	21,777	\$15.00	\$326,655.00	\$12.50	\$272,212.50	\$12.75	\$277,656.75	\$17.25	\$375,653.25	\$11.50	\$250,435.50	
40201000	AGGREGATE FOR TEMPORARY ACCESS	TON	380	\$20.00	\$7,600.00	\$1.00	\$380.00	\$1.00	\$380.00	\$23.45	\$8,911.00	\$1.00	\$380.00	
40600290	BITUMINOUS MATERIALS (TACK COAT)	POUND	81,113	\$1.00	\$81,113.00	\$0.01	\$811.13	\$0.01	\$811.13	\$0.01	\$811.13	\$0.01	\$811.13	
40602978	HOT-MIX ASPHALT BINDER COURSE, IL- 9.5, N50	TON	2,007	\$83.00	\$166,581.00	\$80.00	\$160,560.00	\$78.00	\$156,546.00	\$75.90	\$152,331.30	\$79.00	\$158,553.00	
40603080	HOT-MIX ASPHALT BINDER COURSE, IL-19.0, N50	TON	2,317	\$75.00	\$173,775.00	\$67.00	\$155,239.00	\$73.50	\$170,299.50	\$70.95	\$164,391.15	\$75.00	\$173,775.00	
40603200	POLYMERIZED HOT-MIX ASPHALT BINDER COURSE, IL-4.75, N50	TON	436	\$98.00	\$42,728.00	\$94.00	\$40,984.00	\$86.00	\$37,496.00	\$91.05	\$39,697.80	\$100.00	\$43,600.00	
40604060	HOT-MIX ASPHALT SURFACE COURSE, IL-9.5, MIX "D", N50	TON	7,830	\$77.00	\$602,910.00	\$70.00	\$548,100.00	\$74.00	\$579,420.00	\$75.85	\$593,905.50	\$77.00	\$602,910.00	
40700100	BITUMINOUS MATERIALS (TACK COAT)	POUND	6,870	\$1.00	\$6,870.00	\$0.01	\$68.70	\$0.01	\$68.70	\$0.01	\$68.70	\$0.01	\$68.70	
40701801	HOT-MIX ASPHALT PAVEMENT (FULL-DEPTH), 6"	SQ YD	19,148	\$25.50	\$488,274.00	\$25.00	\$478,700.00	\$25.30	\$484,444.40	\$23.15	\$443,276.20	\$25.50	\$488,274.00	
HE407300	HOT-MIX ASPHALT DRIVEWAY PAVEMENT, 3"	SQ YD	453	\$55.00	\$24,915.00	\$39.00	\$17,667.00 \$2,112.00	\$21.00	\$9,513.00	\$53.20	\$24,099.60	\$25.00	\$11,325.00	
HE407500	HOT-MIX ASPHALT DRIVEWAY PAVEMENT, 5"	SQ YD	5.657	\$60.00	\$2,640.00 \$277,193.00	\$48.00 \$45.00	\$2,112.00	\$34.00 \$47.00	\$1,496.00 \$265,879.00	\$113.00 \$45.00	\$4,972.00 \$254,565.00	\$35.00 \$55.00	\$1,540.00 \$311,135.00	
HE423060	PORTLAND CEMENT CONCRETE DRIVEWAY PAVEMENT, 6 INCH	SQ YD	5,657	\$49.00	\$1,100.00	\$43.00 \$52.00	\$234,363.00	\$58.00	\$1,160.00	\$43.00 \$50.00	\$1,000.00	\$65.00	\$1,300.00	
HE423080 HE424000	PORTLAND CEMENT CONCRETE DRIVEWAY PAVEMENT, 8 INCH PORTLAND CEMENT CONCRETE SIDEWALK, 5 INCH	SQ YD SQ FT	20 134,090	\$55.00 \$4.75	\$636,927.50	\$4.50	\$603,405.00	\$4.70	\$630,223.00	\$30.00 \$4.55	\$610,109.50	\$4.90	\$657,041.00	
HE424000 42400800	DETECTABLE WARNINGS	SQ FT SQ FT	1,785	\$4.75	\$41,055.00	\$23.50	\$41,947.50	\$20.00	\$35,700.00	\$21.00	\$37,485.00	\$20.00	\$35,700.00	
HE4240DI	DETECTABLE WARNINGS DETECTABLE WARNINGS, CAST IRON, SPL	SQ ST	20	\$35.00	\$700.00	\$32.00	\$640.00	\$50.00	\$1,000.00	\$33.00	\$660.00	\$35.00	\$700.00	
44000100	PAVEMENT REMOVAL	SQ YD	19,465	\$6.25	\$121,656.25	\$4.00	\$77,860.00	\$4.25	\$82,726.25	\$5.00	\$97,325.00	\$5.00	\$97,325.00	
HE440010	PAVEMENT REMOVAL PAVEMENT REMOVAL, SPECIAL	SQ YD	15,733	\$6.50	\$102,264.50	\$4.50	\$70,798.50	\$5.05	\$79,451.65	\$11.30	\$177,782.90	\$5.90	\$92,824.70	
HE440015	VARIABLE DEPTH GRINDING (0 INCH TO 3 INCH)	SQ YD	74,408	\$2.60	\$193,460.80	\$2.75	\$204,622.00	\$1.80	\$133,934.40	\$2.40	\$178,579.20	\$1.95	\$145,095.60	
44000200	DRIVEWAY PAVEMENT REMOVAL	SQ YD	6,203	\$10.00	\$62,030.00	\$9.50	\$58,928.50	\$8.50	\$52,725.50	\$7.25	\$44,971.75	\$7.00	\$43,421.00	
44000500	COMBINATION CONCRETE CURB AND GUTTER REMOVAL	FOOT	16,038	\$3.50	\$56,133.00	\$3.10	\$49,717.80	\$3.25	\$52,123.50	\$3.50	\$56,133.00	\$3.05	\$48,915.90	
44000600	SIDEWALK REMOVAL	SQ FT	132,068	\$1.00	\$132,068.00	\$0.90	\$118,861.20	\$1.00	\$132,068.00	\$1.00	\$132,068.00	\$1.00	\$132,068.00	
HE442040	CLASS D PATCH, SPECIAL, 4 INCH	SQ YD	422	\$45.00	\$18,990.00	\$38.00	\$16,036.00	\$30.00	\$12,660.00	\$10.00	\$4,220.00	\$37.00	\$15,614.00	
HE442060	CLASS D PATCH, SPECIAL, 6 INCH	SQ YD	863	\$60.00	\$51,780.00	\$40.00	\$34,520.00	\$42.00	\$36,246.00	\$15.00	\$12,945.00	\$54.00	\$46,602.00	
HE442080	CLASS D PATCH, SPECIAL, 8 INCH	SQ YD	190	\$65.00	\$12,350.00	\$55.00	\$10,450.00	\$60.00	\$11,400.00	\$20.00	\$3,800.00	\$76.00	\$14,440.00	
HE542485	CONCRETE COLLAR, SPECIAL	EACH	3	\$750.00	\$2,250.00	\$550.00	\$1,650.00	\$550.00	\$1,650.00	\$550.00	\$1,650.00	\$500.00	\$1,500.00	
HE550A12	STORM SEWERS, RUBBER GASKET, CLASS A, TYPE 1, 12"	FOOT	959	\$67.00	\$64,253.00	\$52.00	\$49,868.00	\$52.00	\$49,868.00	\$52.00	\$49,868.00	\$61.00	\$58,499.00	
HE550A15	STORM SEWERS, RUBBER GASKET, CLASS A, TYPE 1, 15"	FOOT	38	\$75.00	\$2,850.00	\$69.00	\$2,622.00	\$69.00	\$2,622.00	\$69.00	\$2,622.00	\$70.00	\$2,660.00	
HE550A18	STORM SEWERS, RUBBER GASKET, CLASS A, TYPE 1, 18"	FOOT	271	\$95.00	\$25,745.00	\$72.00	\$19,512.00	\$72.00	\$19,512.00	\$69.00	\$18,699.00	\$75.00	\$20,325.00	
HE550A24	STORM SEWERS, RUBBER GASKET, CLASS A, TYPE 1, 24"	FOOT	5	\$125.00	\$625.00	\$139.00	\$695.00	\$139.00	\$695.00	\$139.00	\$695.00	\$125.00	\$625.00	
HE550A36	STORM SEWERS, RUBBER GASKET, CLASS A, TYPE 1, 36"	FOOT	146	\$140.00	\$20,440.00	\$152.00	\$22,192.00	\$152.00	\$22,192.00	\$152.00	\$22,192.00	\$125.00	\$18,250.00	
HE55DI12	STORM SEWERS, DUCTILE IRON, 12 INCH	FOOT	53	\$100.00	\$5,300.00	\$87.00	\$4,611.00	\$87.00	\$4,611.00	\$87.00	\$4,611.00	\$97.00	\$5,141.00	
HE55WM12	STORM SEWER (WATER MAIN REQUIREMENTS) 12 INCH	FOOT	358	\$75.00	\$26,850.00	\$55.00	\$19,690.00	\$55.00	\$19,690.00	\$55.00	\$19,690.00	\$97.00	\$34,726.00	
HE550P04	STORM SEWERS, SOLID PVC PIPE, 4 INCH	FOOT	25	\$30.00	\$750.00	\$27.00	\$675.00	\$27.00	\$675.00	\$27.00	\$675.00	\$35.00	\$875.00	
HE550P06	STORM SEWERS, SOLID PVC PIPE, 6 INCH	FOOT	25	\$35.00	\$875.00	\$32.00	\$800.00	\$32.00	\$800.00	\$32.00	\$800.00	\$40.00	\$1,000.00	
HE550P08	STORM SEWERS, SOLID PVC PIPE, 8 INCH	FOOT	25	\$55.00	\$1,375.00	\$41.00	\$1,025.00	\$41.00	\$1,025.00	\$41.00	\$1,025.00	\$45.00	\$1,125.00	

# Tabulation of Bids (ALTERNATE BID) Village of Hoffman Estates 2021 Street Revitalization Project Section Number: 21-00108-00-RS

County	Cook												
	1 March 2021, 10:00 A.M. Attendees: Greg Burkey, Jacob Curhtbert, Andy LoBosco, Bev Romanoff, Alan Wenderski (All VOHE)					Plote Construction Inc. 1100 Brandt Drive Hoffman Estates, IL 60192		Schroeder Asphalt Services, Inc P.O. Box 831 Huntley, IL 60142		Arrow Road Construction Co. 1445 Oakton Street Elk Grove Village, IL 60007		A Lamp Concrete Contractors, Inc. 1900 Wright Boulevard Schaumburg, IL 60193	
ITEM#	ITEMS	UNIT	QUANTITIES	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL
HE550P10	STORM SEWERS, SOLID PVC PIPE, 10 INCH	FOOT	25	\$65.00	\$1,625.00	\$50.00	\$1,250.00	\$50.00	\$1,250.00	\$50.00	\$1,250.00	\$50.00	\$1,250.00
HE551000	DIRECT CONNECTION TO STORM SEWER, SPECIAL	EACH	1	\$600.00	\$600.00	\$505.00	\$505.00	\$505.00	\$505.00	\$505.00	\$505.00	\$500.00	\$500.00
55100400	STORM SEWER REMOVAL, 10"	FOOT	67	\$25.00	\$1,675.00	\$4.00	\$268.00	\$4.00	\$268.00	\$4.00	\$268.00	\$1.00	\$67.00
55100500	STORM SEWER REMOVAL, 12"	FOOT	213	\$25.00	\$5,325.00	\$4.00	\$852.00	\$4.00	\$852.00	\$4.00	\$852.00	\$1.00	\$213.00
55100700	STORM SEWER REMOVAL 15"	FOOT	87	\$25.00	\$2,175.00	\$5.00	\$435.00	\$5.00	\$435.00	\$5.00	\$435.00	\$1.00	\$87.00
55100800	STORM SEWER REMOVAL 18"	FOOT	246	\$30.00	\$7,380.00	\$7.00	\$1,722.00	\$7.00	\$1,722.00	\$7.00	\$1,722.00	\$1.00	\$246.00
55101200	STORM SEWER REMOVAL 24"	FOOT	5	\$30.00	\$150.00	\$7.00	\$35.00	\$7.00	\$35.00	\$7.00	\$35.00	\$1.00	\$5.00
55101400	STORM SEWER REMOVAL, 30"	FOOT	146	\$35.00	\$5,110.00	\$5.00	\$730.00	\$5.00	\$730.00	\$5.00	\$730.00	\$1.00	\$146.00
55101600	STORM SEWER REMOVAL, 36"	FOOT	5	\$40.00	\$200.00	\$7.00	\$35.00	\$7.00	\$35.00	\$7.00	\$35.00	\$1.00	\$5.00
HE561040	WATER MAIN ADJUSTMENT, 6", SPECIAL	FOOT	20	\$320.00	\$6,400.00	\$265.00	\$5,300.00	\$100.00	\$2,000.00	\$265.00	\$5,300.00	\$340.00	\$6,800.00
HE561060	WATER MAIN ADJUSTMENT, 8", SPECIAL	FOOT	70	\$375.00	\$26,250.00	\$218.00	\$15,260.00	\$218.00	\$15,260.00	\$218.00	\$15,260.00	\$340.00	\$23,800.00
HE563004	SANITARY SEWER, PVC SDR 26, 4", SPECIAL	FOOT	95	\$140.00	\$13,300.00	\$90.00	\$8,550.00	\$90.00	\$8,550.00	\$90.00	\$8,550.00	\$100.00	\$9,500.00
HE563006	SANITARY SEWER, PVC SDR 26, 6", SPECIAL	FOOT	5	\$150.00	\$750.00	\$127.00	\$635.00	\$127.00	\$635.00	\$127.00	\$635.00	\$125.00	\$625.00
HE563008	SANITARY SEWER, PVC SDR 26, 8", SPECIAL	FOOT	160	\$175.00	\$28,000.00	\$127.00	\$20,320.00	\$127.00	\$20,320.00	\$127.00	\$20,320.00	\$130.00	\$20,800.00
HE563012	SANITARY SEWER, PVC SDR 26, 12", SPECIAL	FOOT	16	\$200.00	\$3,200.00	\$169.00	\$2,704.00	\$169.00	\$2,704.00	\$169.00	\$2,704.00	\$200.00	\$3,200.00
HE563104	SANITARY SEWER REMOVAL, 4", SPECIAL	FOOT	70	\$25.00	\$1,750.00	\$5.00	\$350.00	\$5.00	\$350.00	\$5.00	\$350.00	\$1.00	\$70.00
HE563106	SANITARY SEWER REMOVAL, 6", SPECIAL	FOOT	5	\$25.00	\$125.00	\$5.00	\$25.00	\$5.00	\$25.00	\$5.00	\$25.00	\$1.00	\$5.00
HE563108	SANITARY SEWER REMOVAL, 8", SPECIAL	FOOT	160	\$25.00	\$4,000.00	\$5.00	\$800.00	\$5.00	\$800.00	\$5.00	\$800.00	\$1.00	\$160.00
HE563112	SANITARY SEWER REMOVAL, 12", SPECIAL	FOOT	16	\$35.00	\$560.00	\$13.00	\$208.00	\$13.00	\$208.00	\$13.00	\$208.00	\$1.00	\$16.00
HE563204	SANITARY SEWER SERVICE CONNECTION, 4", SPECIAL	EACH	9	\$1,650.00	\$14,850.00	\$750.00	\$6,750.00	\$750.00	\$6,750.00	\$750.00	\$6,750.00	\$2,050.00	\$18,450.00
HE564400	SANITARY MANHOLES, 4 FOOT DIAMETER, SPECIAL	EACH	9	\$5,500.00	\$49,500.00	\$6,030.00	\$54,270.00	\$6,030.00	\$54,270.00	\$6,030.00	\$54,270.00	\$4,500.00	\$40,500.00
HE564450	SANITARY DROP MANHOLES, 4 FOOT DIAMETER, SPECIAL	EACH	2	\$9,500.00	\$19,000.00	\$13,225.00	\$26,450.00	\$13,225.00	\$26,450.00	\$13,225.00	\$26,450.00	\$8,000.00	\$16,000.00
HE565000	SANITARY MANHOLES, ADJUST, SPECIAL	EACH	28	\$800.00	\$22,400.00	\$710.00	\$19,880.00	\$710.00	\$19,880.00	\$710.00	\$19,880.00	\$850.00	\$23,800.00
HE565500	SANITARY MANHOLES, RECONSTRUCT, SPECIAL	EACH	2	\$1,500.00	\$3,000.00	\$1,680.00	\$3,360.00	\$1,680.00	\$3,360.00	\$1,680.00	\$3,360.00	\$1,500.00	\$3,000.00
HE601004	PIPE UNDERDRAINS, FABRIC LINED TRENCH, 4", SPL	FOOT	366	\$32.00	\$11,712.00	\$25.00	\$9,150.00	\$25.00	\$9,150.00	\$25.00	\$9,150.00	\$30.00	\$10,980.00
HE601006	PIPE UNDERDRAINS, FABRIC LINED TRENCH, 6", SPL	FOOT	100	\$35.00	\$3,500.00	\$30.00	\$3,000.00	\$30.00	\$3,000.00	\$30.00	\$3,000.00	\$35.00	\$3,500.00
HE602104	CATCH BASINS, 4 FOOT DIAMETER	EACH	10	\$3,100.00	\$31,000.00	\$3,100.00	\$31,000.00	\$3,100.00	\$31,000.00	\$3,100.00	\$31,000.00	\$3,000.00	\$30,000.00
HE602105	CATCH BASINS, 5 FOOT DIAMETER	EACH	1	\$3,500.00	\$3,500.00	\$4,105.00	\$4,105.00	\$4,085.00	\$4,085.00	\$4,085.00	\$4,085.00	\$3,500.00	\$3,500.00
HE602200	INLETS, 2 FOOT DIAMETER	EACH	20	\$1,300.00	\$26,000.00	\$1,140.00	\$22,800.00	\$1,140.00	\$22,800.00	\$1,140.00	\$22,800.00	\$1,200.00	\$24,000.00
HE602400	MANHOLES, 4 FOOT DIAMETER	EACH	8	\$3,000.00	\$24,000.00	\$3,245.00	\$25,960.00	\$3,245.00	\$25,960.00	\$3,245.00	\$25,960.00	\$3,000.00	\$24,000.00
HE602500	MANHOLES, 5 FOOT DIAMETER	EACH	1	\$4,000.00	\$4,000.00	\$4,025.00	\$4,025.00	\$4,025.00	\$4,025.00	\$4,025.00	\$4,025.00	\$4,000.00	\$4,000.00
HE602600	MANHOLES, 6 FOOT DIAMETER	EACH	1	\$6,000.00	\$6,000.00	\$6,900.00	\$6,900.00	\$6,900.00	\$6,900.00	\$6,900.00	\$6,900.00	\$5,500.00	\$5,500.00
HE603000	MANHOLES TO BE ADJUSTED	EACH	182	\$300.00	\$54,600.00	\$285.00	\$51,870.00	\$285.00	\$51,870.00	\$285.00	\$51,870.00	\$325.00	\$59,150.00
HE603500	MANHOLES TO BE RECONSTRUCTED	EACH	1	\$700.00	\$700.00	\$1,380.00	\$1,380.00	\$1,380.00	\$1,380.00	\$1,380.00	\$1,380.00	\$1,300.00	\$1,300.00
HE603100	MANHOLES TO BE ADJUSTED, SPECIAL	EACH	6	\$525.00	\$3,150.00	\$500.00	\$3,000.00	\$430.00	\$2,580.00	\$500.00	\$3,000.00	\$550.00	\$3,300.00
60402210	GRATES, TYPE 8	EACH	2	\$300.00	\$600.00	\$182.00	\$364.00	\$182.00	\$364.00	\$182.00	\$364.00	\$200.00	\$400.00
HE604007	FRAMES AND GRATES, DEPRESSED GRATE	EACH	6	\$350.00	\$2,100.00	\$430.00	\$2,580.00	\$430.00	\$2,580.00	\$430.00	\$2,580.00	\$385.00	\$2,310.00
60406000	FRAMES AND LIDS, TYPE 1, OPEN LID	EACH	1	\$350.00	\$350.00	\$285.00	\$285.00	\$285.00	\$285.00	\$285.00	\$285.00	\$350.00	\$350.00
HE604060	FRAMES AND LIDS, STORM, TYPE 1, CLOSED LID, SPECIAL	EACH	6	\$325.00	\$1,950.00	\$290.00	\$1,740.00	\$290.00	\$1,740.00	\$290.00	\$1,740.00	\$350.00	\$2,100.00
HE604061	FRAMES AND LIDS, SANITARY, TYPE 1, CLOSED LID, SPECIAL	EACH	23	\$325.00	\$7,475.00	\$295.00	\$6,785.00	\$295.00	\$6,785.00	\$295.00	\$6,785.00	\$350.00	\$8,050.00
HE604062	FRAMES AND LIDS, WATER, TYPE 1, CLOSED LID, SPECIAL	EACH	1	\$325.00	\$325.00	\$295.00	\$295.00	\$295.00	\$295.00	\$295.00	\$295.00	\$350.00	\$350.00
HE604300	FRAMES AND GRATES, FOR M3.12 CURB	EACH	53	\$390.00	\$20,670.00	\$353.00	\$18,709.00	\$353.00	\$18,709.00	\$353.00	\$18,709.00	\$465.00	\$24,645.00
HE604605	FRAMES AND GRATES, FOR B6.12 CURB	EACH	13	\$440.00	\$5,720.00	\$425.00	\$5,525.00	\$425.00	\$5,525.00	\$425.00	\$5,525.00	\$465.00	\$6,045.00
HE604606	FRAMES AND GRATES SPECIAL, FOR B6.12 CURB	EACH	4	\$550.00	\$2,200.00	\$585.00	\$2,340.00	\$585.00	\$2,340.00	\$585.00	\$2,340.00	\$550.00	\$2,200.00
60500040	REMOVING MANHOLES	EACH	20	\$300.00	\$6,000.00	\$205.00	\$4,100.00	\$205.00	\$4,100.00	\$205.00	\$4,100.00	\$400.00	\$8,000.00
60500060	REMOVING INLETS	EACH	15	\$125.00	\$1,875.00	\$60.00	\$900.00	\$60.00	\$900.00	\$60.00	\$900.00	\$250.00	\$3,750.00

#### **Tabulation of Bids (ALTERNATE BID) Village of Hoffman Estates 2021 Street Revitalization Project**

Section Number: 21-00108-00-RS

HE66300   COMBINATION CONCRETE CURB AND GUTTER REMOVAL & REPLACEMENT, SPECIAL   FOOT   8,494   \$24.00   \$230,856.00   \$28.00   \$230,856.00   \$230,856.00   \$24.25   \$205,979.50   \$22.15   \$188,142.10   \$27.00   \$229,338.00   \$1860000   \$250,	County	Cook													
Fig.	· ·					REVITALIZATION PROJECT - ENGINEERS		1100 Brandt Drive		P.O. Box 831		1445 Oakton Street		1900 Wright Boulevard	
HE666200   COMBINATION CONCRETE CURB AND GUTTER, B6.12, SPECIAL   FOOT   2.925   \$2.000   \$58.500.00   \$58.500.00   \$3.000.0	ITEM#	ITEMS	UNIT	QUANTITIES		TOTAL		TOTAL		TOTAL		TOTAL		TOTAL	
HE666300   COMBINATION CONCRETE CURB AND GUTTER REMOVAL & REPLACEMENT, SPECIAL   FOOT   8,494   \$24.00   \$220,3856.00   \$28.00   \$237,832.00   \$24.25   \$205,979.50   \$22.15   \$188,142.10   \$27.00   \$229,338.00   HE666900   CONCRETE FRONT FILL, SPECIAL   FOOT   100   \$2.00   \$20.000   \$5.00   \$50.0	HE606100	COMBINATION CONCRETE CURB AND GUTTER, M3.12, SPECIAL	FOOT	13,106	\$19.00	\$249,014.00	\$14.00	\$183,484.00	\$16.00	\$209,696.00	\$18.00	\$235,908.00	\$17.00	\$222,802.00	
He66690   CONCRETE FRONT FILL, SPECIAL   FOOT   100   S200   S200.00   S200.00   S500   S500   S500   S500.00   S200.00   S400   S400.00   S400.	HE606200	COMBINATION CONCRETE CURB AND GUTTER, B6.12, SPECIAL	FOOT	2,925	\$20.00	\$58,500.00	\$17.00	\$49,725.00	\$18.00	\$52,650.00	\$18.50	\$54,112.50	\$18.00	\$52,650.00	
HE701014   TRAFFIC CONTROL AND PROTECTION   LUMP SUM   1   \$250,000.00   \$250,000.00   \$335,779.35   \$335,779.35   \$355,150.00   \$3188,000.00   \$188,000.00   \$502,000.00   \$100.00   \$100.00   \$100.00   \$100.00   \$100.00   \$100.00   \$100.00   \$100.00   \$100.00   \$100.00   \$100.00   \$100.00   \$100.00   \$100.00   \$10.00   \$10	HE606300	COMBINATION CONCRETE CURB AND GUTTER REMOVAL & REPLACEMENT, SPECIAL	FOOT	8,494	\$24.00	\$203,856.00	\$28.00	\$237,832.00	\$24.25	\$205,979.50	\$22.15	\$188,142.10	\$27.00	\$229,338.00	
FOOT   1,382   S1.50   S2,073.00   S1.00   S1.382   S1.50   S2,073.00   S1.00   S1.382   S1.582   S1	HE606900	CONCRETE FRONT FILL, SPECIAL	FOOT	100	\$2.00	\$200.00	\$5.00	\$500.00	\$5.00	\$500.00	\$2.00	\$200.00	\$4.00	\$400.00	
SQFT   460   S1.50   S690.00   S1.50   S690.00   S1.50   S1.	HE701014	TRAFFIC CONTROL AND PROTECTION	LUMP SUM	1	\$250,000.00	\$250,000.00	\$335,779.35	\$335,779.35	\$355,150.00	\$355,150.00	\$188,000.00	\$188,000.00	\$502,000.00	\$502,000.00	
REF-2010   REMOVE AND RESET SIGN   SACH	70300100	SHORT TERM PAVEMENT MARKING	FOOT	1,382	\$1.50	\$2,073.00	\$1.00	\$1,382.00	\$0.01	\$13.82	\$0.95	\$1,312.90	\$0.01	\$13.82	
7800900         MODIFIED URETHANE PAVEMENT MARKING - LETTERS AND SYMBOLS         SQ FT         358         \$7.50         \$2,685.00         \$5.59         \$2,001.22         \$5.00         \$1,790.00         \$5.00         \$1,790.00         \$5.50         \$1,969.00           78009004         MODIFIED URETHANE PAVEMENT MARKING - LINE 4"         FOOT         1,761         \$1.25         \$2,201.25         \$0.93         \$1,637.73         \$0.95         \$1,672.95         \$0.95         \$1,672.95         \$1.05         \$1,849.05 <td>70300150</td> <td>SHORT TERM PAVEMENT MARKING REMOVAL</td> <td>SQ FT</td> <td>460</td> <td>\$1.50</td> <td>\$690.00</td> <td>\$3.00</td> <td>\$1,380.00</td> <td>\$0.01</td> <td>\$4.60</td> <td>\$3.65</td> <td>\$1,679.00</td> <td>\$1.00</td> <td>\$460.00</td>	70300150	SHORT TERM PAVEMENT MARKING REMOVAL	SQ FT	460	\$1.50	\$690.00	\$3.00	\$1,380.00	\$0.01	\$4.60	\$3.65	\$1,679.00	\$1.00	\$460.00	
78009004         MODIFIED URETHANE PAVEMENT MARKING - LINE 4"         FOOT         1,761         \$1.25         \$2,201.25         \$0.93         \$1,637.73         \$0.95         \$1,672.95         \$0.95         \$1,672.95         \$1.05         \$1,849.05           78009006         MODIFIED URETHANE PAVEMENT MARKING - LINE 6"         FOOT         4,154         \$1.75         \$7,269.50         \$1.40         \$5,815.60         \$1.20         \$4,984.80         \$1.20         \$4,984.80         \$1.35         \$5,607.90           78009012         MODIFIED URETHANE PAVEMENT MARKING - LINE 12"         FOOT         158         \$3.50         \$553.00         \$2.79         \$440.82         \$2.50         \$395.00         \$2.50         \$395.00         \$395.00         \$395.00         \$474.00           78009024         MODIFIED URETHANE PAVEMENT MARKING - LINE 24"         FOOT         755         \$7.50         \$5,662.50         \$5.59         \$4,220.45         \$5.00         \$3,775.00         \$5.00         \$3,775.00         \$5.00         \$4,152.50           HE90000         MAINTENANCE LETTERS OF CREDIT         LUMP SUM         1         \$3,500.00         \$4,000.00         \$6,000.00         \$6,000.00         \$2,625.00         \$5,000.00         \$5,000.00           TOTAL ALTERNATE BID As Read         \$5,754,686.65 <td< td=""><td>HE720010</td><td>REMOVE AND RESET SIGN</td><td>EACH</td><td>1</td><td>\$250.00</td><td>\$250.00</td><td>\$150.00</td><td>\$150.00</td><td>\$200.00</td><td>\$200.00</td><td>\$150.00</td><td>\$150.00</td><td>\$300.00</td><td>\$300.00</td></td<>	HE720010	REMOVE AND RESET SIGN	EACH	1	\$250.00	\$250.00	\$150.00	\$150.00	\$200.00	\$200.00	\$150.00	\$150.00	\$300.00	\$300.00	
7800906         MODIFIED URETHANE PAVEMENT MARKING - LINE 6"         FOOT         4,154         \$1.75         \$7,269.50         \$1.40         \$5,815.60         \$1.20         \$4,984.80         \$1.20         \$4,984.80         \$1.20         \$4,984.80         \$1.35         \$5,607.90           78009012         MODIFIED URETHANE PAVEMENT MARKING - LINE 12"         FOOT         158         \$3.50         \$553.00         \$2.79         \$440.82         \$2.50         \$395.00         \$395.00         \$30.00         \$474.00           78009024         MODIFIED URETHANE PAVEMENT MARKING - LINE 24"         FOOT         755         \$7.50         \$5,662.50         \$5.59         \$4,220.45         \$5.00         \$3,775.00         \$5.00         \$3,775.00         \$5.00         \$4,984.80         \$1.20         \$4,984.80         \$1.20         \$4,984.80         \$1.20         \$4,984.80         \$1.20         \$4,984.80         \$1.20         \$4,984.80         \$1.20         \$3,950.00         \$2.50         \$395.00         \$3,950.00         \$3,950.00         \$3,950.00         \$3,950.00         \$3,775.00         \$5,000.00         \$5,000.00         \$5,000.00         \$6,000.00         \$6,000.00         \$6,000.00         \$6,000.00         \$5,298,427.28         \$5,364,842.80         \$5,364,842.80         \$5,364,842.80	78009000	MODIFIED URETHANE PAVEMENT MARKING - LETTERS AND SYMBOLS	SQ FT	358	\$7.50	\$2,685.00	\$5.59	\$2,001.22	\$5.00	\$1,790.00	\$5.00	\$1,790.00	\$5.50	\$1,969.00	
78009012         MODIFIED URETHANE PAVEMENT MARKING - LINE 12"         FOOT         158         \$3.50         \$553.00         \$2.79         \$440.82         \$2.50         \$395.00         \$395.00         \$3.00         \$474.00           78009024         MODIFIED URETHANE PAVEMENT MARKING - LINE 24"         FOOT         755         \$7.50         \$5,662.50         \$5.59         \$4,220.45         \$5.00         \$3,775.00         \$3,775.00         \$5.50         \$4,152.50           HE900000         MAINTENANCE LETTERS OF CREDIT         LUMP SUM         1         \$3,500.00         \$4,000.00         \$6,000.00         \$6,000.00         \$2,625.00         \$5,000.00         \$5,000.00           TOTAL ALTERNATE BID As Read         \$5,754,686.65         \$5,754,686.65         \$5,153,000.00         \$5,203,412.90         \$5,298,427.28         \$5,364,842.80	78009004	MODIFIED URETHANE PAVEMENT MARKING - LINE 4"	FOOT	1,761	\$1.25	\$2,201.25	\$0.93	\$1,637.73	\$0.95	\$1,672.95	\$0.95	\$1,672.95	\$1.05	\$1,849.05	
78009024       MODIFIED URETHANE PAVEMENT MARKING - LINE 24"       FOOT       755       \$7.50       \$5,662.50       \$5.50       \$4,220.45       \$5.00       \$3,775.00       \$3,775.00       \$5.50       \$4,152.50         HE90000       MAINTENANCE LETTERS OF CREDIT       LUMP SUM       1       \$3,500.00       \$4,000.00       \$6,000.00       \$6,000.00       \$6,000.00       \$2,625.00       \$5,000.00       \$5,000.00         TOTAL ALTERNATE BID As Read       \$5,754,686.65       \$5,754,686.65       \$5,153,000.00       \$5,203,412.90       \$5,298,427.28       \$5,364,842.80	78009006	MODIFIED URETHANE PAVEMENT MARKING - LINE 6"	FOOT	4,154	\$1.75	\$7,269.50	\$1.40	\$5,815.60	\$1.20	\$4,984.80	\$1.20	\$4,984.80	\$1.35	\$5,607.90	
HE900000         MAINTENANCE LETTERS OF CREDIT         LUMP SUM         1         \$3,500.00         \$4,000.00         \$4,000.00         \$6,000.00         \$6,000.00         \$2,625.00         \$5,000.00         \$5,000.00           TOTAL ALTERNATE BID As Read	78009012	MODIFIED URETHANE PAVEMENT MARKING - LINE 12"	FOOT	158	\$3.50	\$553.00	\$2.79	\$440.82	\$2.50	\$395.00	\$2.50	\$395.00	\$3.00	\$474.00	
TOTAL ALTERNATE BID As Read \$5,754,686.65 \$5,754,686.65 \$5,203,412.90 \$5,203,412.90 \$5,298,427.28 \$5,364,842.80	78009024	MODIFIED URETHANE PAVEMENT MARKING - LINE 24"	FOOT	755	\$7.50	\$5,662.50	\$5.59	\$4,220.45	\$5.00	\$3,775.00	\$5.00	\$3,775.00	\$5.50	\$4,152.50	
	HE900000	MAINTENANCE LETTERS OF CREDIT	LUMP SUM	1	\$3,500.00	\$3,500.00	\$4,000.00	\$4,000.00	\$6,000.00	\$6,000.00	\$2,625.00	\$2,625.00	\$5,000.00	\$5,000.00	
<b>TOTAL ALTERNATE BID As Corrected</b> \$5,153,000.00 \$5,215,412.90 \$5,298,427.28 \$5,364,842.80	TOTAL A	TOTAL ALTERNATE BID As Read						\$5,153,000.00		\$5,203,412.90		\$5,298,427.28		\$5,364,842.80	
	TOTAL ALTERNATE BID As Corrected						•	\$5,153,000.00	Ī	\$5,215,412.90	1	\$5,298,427.28	1	\$5,364,842.80	